MAT1505-05 04S Quiz 6 Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary),
and use arrows and equal signs when appropriate. Always simplify expressions. BOX final short
answers. LABEL parts of problem. Keep answers EXACT (not decimal approximations, if possible).

Y4 =BGy The pbabildy dismbution §(x) = ¢ (a=x)% %> c(ax)
is o belg-dismbution for 0¢4x2£a,
a) For what value of ¢ is thetotal Pmbab"l(@ equalto 4 :

>X P(vexga) = Sq ¥6dYx =4 7 Set ¢ equaltothisvdue —
e for the rectof the problem,

e l-") Use calcd hd‘mﬂ‘ies to de*emw'we the value ¥ ot whick this
distnbubior has s peak Value,

- ¢) Evaluate the cx?eo\ca\ value AL of the vanable x M= S: X&()O aAx .
__ . 4) Bydnanging the independent vanade from x 4o U= Xx/a (dimensionless !) onthe
nlewal 042U £ 4, show that 4y
Pix £x %) = sz §(x\dy = S 1201~ u?du = P(u cusuy), where
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Uy ui=Xi/a.
\R:;edioug‘fafu%h's resutt — A4
e) This tnabes us tv And the median ¥m of the distnbuhon by flno\mg Um=Xn/a by
So\w.n_g gum 2(\-w)utdu= Yy . The resu\‘\'\bg quariic eq\Aa-\-;on is easily sdved for

0¢Unsl on your graghing cdaulatnr or with Mage : > fsdve (ea, us ©.. 1)}
What 1s Um 4o 3 decimal P\aces? Hoo dees 't compare 1o the peale value Up= Xp/a
and expeded value Ue= M/q ? ( order them : A<BLC bydecimal valves ) .
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